BgoE layer 0 Hits 0.10 ~ 0.16 GeV BgoE layer 0 Hits 0.16 ~ 0.25 GeV BgoE layer 0 Hits 0.25 ~ 0.40 GeV

2 022 F
:_ 0.2 E— 0.25 :—
E 0.18 :— =
E BGO Hits[0] E BGO Hits[0] F BGO Hits[0]
E 0.16 = 02—
F — E — r —
E 0.14 — C
— — E — - —
E 012 015
E_ 0.1 E F
E 008 0.1 :—
E 0.06 - o
;— 0.04 E— 0.05 :—
- 0.02 E— r
o E oF | | | oL L L 1
2 4 6 8 10 12 14 16 18 20 22 2 4 6 8 10 12 14 16 18 20 22 2 4 6 8 10 12 14 16 18 20 22
BgoE layer 0 Hits 0.40 ~ 0.63 GeV BgoE layer 0 Hits 0.63 ~ 1.00 GeV BgoE layer 0 Hits 1.00 ~ 1.58 GeV
E_ 0.35 E— E
F - 0.5 =
E BGO Hits[0] 03 ;— BGO Hits[0] L BGO Hits[0]
E — E -—1 04 —
o 025 -
E — E — o —
E 02f- 03|~
01 F F
E 015 p— o
E E 02f
E 01 o
E 0.05 E—
o= 2 4 6 8 10 12 14 16 18 20 22 .
BgoE layer 0 Hits 1.58 ~ 2.51 GeV BgoE layer 0 Hits 2.51 ~ 3.98 GeV BgoE layer 0 Hits 3.98 ~ 6.31 GeV
E_ 016 o=
F 014 : [ ;
:_ BGO Hits[0] E BGO Hits[0] 0.08 BGO Hits[0]
E - 012 - I -
E [— o - + -_—
E (81 o 0.06
02 E
F 0,08~ P
E 0.06 0.04 -
;_ 004 [
E 002~
= 002~ I
E 0 E ol

BgoE layer 0 Hits 6.31 ~ 10.00 GeV

BGO Hits[0]




BgoE layer 1 Hits 0.10 ~ 0.16 GeV

BGO Hits[1]
—

—

BgoE layer 1 Hits 0.40 ~ 0.63 GeV

0.25 _—
0.2~ BGO Hits[1]
[ -3
15|~ -
o1
0.05 -—
0 L L L L L
2 4 6 8 10 12 14 16 18 20 22
BgoE layer 1 Hits 1.58 ~ 2.51 GeV
035 E—
o3E BGO Hits[1]
025 -7
F —
02
015
01
005~
ob 2 4 6 8 10 12 14 16 18 20 22
BgoE layer 1 Hits 6.31 ~ 10.00 GeV
0.1

BGO Hits[1]

PFE N T N P NS TS SRS ST ST R
2 4 6 8 10 12 4 6 18 20

22

0.2

0.3

BgoE layer 1 Hits 0.16 ~ 0.25 GeV

BGO Hits[1]
—

—

Pl IFEFE IR AT e
2 4 6

BgoE layer 1 Hits 0.63 ~ 1.00 GeV

BGO Hits[1]
—

—

BgoE layer 1 Hits 2.51 ~ 3.98 GeV

BGO Hits[1]
—

—

BgoE layer 1 Hits 0.25 ~ 0.40 GeV

BGO Hits[1]
—

—

Pl IFEFATE PR AT L 1 1 1 1
2 4 6 8

BgoE layer 1 Hits 1.00 ~ 1.58 GeV

BGO Hits[1]
—

—

BgoE layer 1 Hits 3.98 ~ 6.31 GeV

BGO Hits[1]




BgoE layer 2 Hits 0.10 ~ 0.16 GeV

BGO Hits[2]
—

—

BgoE layer 2 Hits 0.40 ~ 0.63 GeV

BGO Hits[2]
—

—

BgoE layer 2 Hits 1.58 ~ 2.51 GeV

BGO Hits[2]
—

—

BgoE layer 2 Hits 6.31 ~ 10.00 GeV

BGO Hits[2]

0.3

0.2

o

BgoE layer 2 Hits 0.16 ~ 0.25 GeV

—

—

BGO Hits[2]

Pl IFEFE IR e
2 4 6

8 10 12 14 16 18 20 22
BgoE layer 2 Hits 0.63 ~ 1.00 GeV
3 BGO Hits[2]
3 —1
[ -
14 16 18 20 22
BgoE layer 2 Hits 2.51 ~ 3.98 GeV
:_ BGO Hits[2]
L —
[ —_

BgoE layer 2 Hits 0.25 ~ 0.40 GeV

BGO Hits[2]
—

—

Pl NI P
2 4 6

BgoE layer 2 Hits 1.00 ~ 1.58 GeV

BGO Hits[2]
—

—

BgoE layer 2 Hits 3.98 ~ 6.31 GeV

BGO Hits[2]




BgoE layer 3 Hits 0.10 ~ 0.16 GeV

BGO Hits[3]
—

—

BgoE layer 3 Hits 0.40 ~ 0.63 GeV

03
F BGO Hits[3]
ozsf- —
02 E =«
015~
01
005
0 : 1 1 1 1 1 1
2 4 6 8 10 12 14 16 18 20 22
BgoE layer 3 Hits 1.58 ~ 2.51 GeV
0.25
BGO Hits[3]
02 -1
—

BgoE layer 3 Hits 6.31 ~ 10.00 GeV

BGO Hits[3]

0.3

BgoE layer 3 Hits 0.16 ~ 0.25 GeV

BGO Hits[3]
—

—

BgoE layer 3 Hits 0.63 ~ 1.00 GeV

BGO Hits[3]
—

—

BgoE layer 3 Hits 2.51 ~ 3.98 GeV

BGO Hits[3]
—

—

BgoE layer 3 Hits 0.25 ~ 0.40 GeV

BGO Hits[3]
—

—

sl sty 10 Il L I 1 1 1 1
2 4 6

BgoE layer 3 Hits 1.00 ~ 1.58 GeV

BGO Hits[3]
—

—

BgoE layer 3 Hits 3.98 ~ 6.31 GeV

BGO Hits[3]




BgoE layer 4 Hits 0.10 ~ 0.16 GeV

BGO Hits[4]
—

—

BgoE layer 4 Hits 0.40 ~ 0.63 GeV

BGO Hits[4]
—

—

BgoE layer 4 Hits 1.58 ~ 2.51 GeV

BGO Hits[4]
—

—

BgoE layer 4 Hits 6.31 ~ 10.00 GeV

BGO Hits[4]
—

—

2 4 6 8 10 12 14 16 18 20 22

0.2

BgoE layer 4 Hits 0.16 ~ 0.25 GeV

BGO Hits[4]
-—
-
1 1 1 1 1 1 1 1
4 6 8 10 12 14 16 18 20 22

BgoE layer 4 Hits 0.63 ~ 1.00 GeV

BGO Hits[4]
—

—

4 6 8 10 12 14 16 18 20 22
BgoE layer 4 Hits 2.51 ~ 3.98 GeV
BGO Hits[4]
—
—

BgoE layer 4 Hits 0.25 ~ 0.40 GeV

BGO Hits[4]

O

E —
S I I L L L L L L
2 4 8 10 12 14 16 18 20 22

BgoE layer 4 Hits 1.00 ~ 1.58 GeV

E BGO Hits[4]

E -

E [—

E. L L L 1
2 4 6 8 10 12 14 16 18 20 22

BgoE layer 4 Hits 3.98 ~ 6.31 GeV

BGO Hits[4]

14

20 22



BgoE layer 5 Hits 0.10 ~ 0.16 GeV

BGO Hits[5]
—

—

P | 1 1 1 1
8

BgoE layer 5 Hits 0.40 ~ 0.63 GeV

BGO Hits[5]
—

—

BgoE layer 5 Hits 1.58 ~ 2.51 GeV

BGO Hits[5]
—

—

BgoE layer 5 Hits 6.31 ~ 10.00 GeV

BGO Hits[5]

05

0.4

0.3

0.2

0..

o

03

0.2

BgoE layer 5 Hits 0.16 ~ 0.25 GeV

BGO Hits[5]
—

—

BgoE layer 5 Hits 0.63 ~ 1.00 GeV

BGO Hits[5]
—

—

BgoE layer 5 Hits 2.51 ~ 3.98 GeV

BGO Hits[s]
—

—

BgoE layer 5 Hits 0.25 ~ 0.40 GeV

BGO Hits[5]
—

—

BgoE layer 5 Hits 1.00 ~ 1.58 GeV

BGO Hits[5]
—

—

BgoE layer 5 Hits 3.98 ~ 6.31 GeV

BGO Hits[5]
—

14 16 18 20 22




BgoE layer 6 Hits 0.10 ~ 0.16 GeV BgoE layer 6 Hits 0.16 ~ 0.25 GeV BgoE layer 6 Hits 0.25 ~ 0.40 GeV

07 F
F 06~
06 F
E BGO Hits[6] 05| BGO Hits[6] BGO Hits[6]
osf- -7 F -7 -
E — 0.4 :— — —t
04f E
E o3
03 F
E 02|
0.2 = o
oaf- o1f
0 E L 1 1 1 1 1 0 :. alsaal L 1 1 1 1 1 1 1 1 1 1 1 L L L
2 4 6 8 10 12 14 16 18 20 22 2 6 8 10 12 14 16 18 20 22 0 12 14 16 18 20 22
BgoE layer 6 Hits 0.40 ~ 0.63 GeV BgoE layer 6 Hits 0.63 ~ 1.00 GeV BgoE layer 6 Hits 1.00 ~ 1.58 GeV
E C 04
045~ o E
04 E 0.3 _— 0.35 :—
E BGO Hits[6] E BGO Hits[6] osE BGO Hits[6]
0355— — 0.25: - SE —
o8 E_ - 02 E — 0.25 ; J—
025 F o
E E 02
02 015 E
E F 015
015 01 o
E o 01
0.1 E E
00sf- 0sE 005~
0 E 1 1 1 1 1 1 1 0 E 1 1 1 1 0 E 1 1 1 1 1
10 12 14 16 18 20 22 2 4 6 8 10 12 14 16 18 20 22 14 16 18 20 22
BgoE layer 6 Hits 1.58 ~ 2.51 GeV BgoE layer 6 Hits 2.51 ~ 3.98 GeV BgoE layer 6 Hits 3.98 ~ 6.31 GeV
F F 0.16
02 E
018f= 0.141= 014
0.16 E— BGO Hits[6] 012~ BGO Hits[6] 012 BGO Hits[6]
0.14 E -1 [ — -
E —_ 01 - 01 =
012~ F
oaf- 008 0.08
008~ 0.06 :— 0.06
0.06 - E
E 0.04 = 0.04
0.04~
002 0.02 0.02
0 E 1 1 L L 0 0 L L
16 18 20 22 2 4 6 8 10 12 14 16 18 20 22 2 4 6 8 10 12 14 16 18 20 22
BgoE layer 6 Hits 6.31 ~ 10.00 GeV
0.16

BGO Hits[6]




BgoE layer 7 Hits 0.10 ~ 0.16 GeV

BGO Hits[7]
—

—

Iy
@
o)
o
5|
o
)
o
N
o
o)
o
=
)
S
N
N

BgoE layer 7 Hits 0.40 ~ 0.63 GeV

BGO Hits[7]
—

—

BgoE layer 7 Hits 1.58 ~ 2.51 GeV

BGO Hits[7]
—

—

BgoE layer 7 Hits 6.31 ~ 10.00 GeV

BGO Hits[7]

BgoE layer 7 Hits 0.16 ~ 0.25 GeV

0.7
0.6
BGO Hits[7]
—

—

05

0.

=

0.

w

0.

N

0.

=

BgoE layer 7 Hits 0.63 ~ 1.00 GeV

BGO Hits[7]
—

—

BgoE layer 7 Hits 2.51 ~ 3.98 GeV

BGO Hits[7]
—

—

BgoE layer 7 Hits 0.25 ~ 0.40 GeV

BGO Hits[7]
—

—

o

BgoE layer 7 Hits 1.00 ~ 1.58 GeV

BGO Hits[7]
—

—

BgoE layer 7 Hits 3.98 ~ 6.31 GeV

BGO Hits[7]
—

—




BgoE layer 8 Hits 0.10 ~ 0.16 GeV

BGO Hits[8]
—

—

P | 1 1 1 1
8

BgoE layer 8 Hits 0.40 ~ 0.63 GeV

BGO Hits[8]
—

—

BgoE layer 8 Hits 1.58 ~ 2.51 GeV

BGO Hits[8]
—

—

BGO Hits[8]

0.7

0.6

05

0.

=

0.

w

0.:

N

0..

o

BgoE layer 8 Hits 0.16 ~ 0.25 GeV

BGO Hits[8]
—

—

BgoE layer 8 Hits 0.63 ~ 1.00 GeV

BGO Hits[8]
—

—

BgoE layer 8 Hits 2.51 ~ 3.98 GeV

BGO Hits[8]
—

—

BgoE layer 8 Hits 0.25 ~ 0.40 GeV

BGO Hits[8]
—

—

BgoE layer 8 Hits 1.00 ~ 1.58 GeV

BGO Hits[8]
—

—

BgoE layer 8 Hits 3.98 ~ 6.31 GeV

BGO Hits[8]
—

—




BgoE layer 9 Hits 0.10 ~ 0.16 GeV

o
=
LAY ARl AL RRLL) RARRY LALLN AR (LRRRN

BGO Hits[9]
—

—

BgoE layer 9 Hits 0.40 ~ 0.63 GeV

BGO Hits[9]
—

—

BgoE layer 9 Hits 1.58 ~ 2.51 GeV

BGO Hits[9]
—

—

BgoE layer 9 Hits 6.31 ~ 10.00 GeV

BGO Hits[9]

0.7

0.6

05

0.

=

0.

w

0.

N

0.

[

05

0.4

0.3

0.

>

0.

s

BgoE layer 9 Hits 0.16 ~ 0.25 GeV

BGO Hits[9]
—

—

BgoE layer 9 Hits 0.63 ~ 1.00 GeV

BGO Hits[9]
—

—

BgoE layer 9 Hits 2.51 ~ 3.98 GeV

F BGO Hits[9]
E -
:_ —
E L
18 20 22

BgoE layer 9 Hits 0.25 ~ 0.40 GeV

BGO Hits[9]
—

—

BgoE layer 9 Hits 1.00 ~ 1.58 GeV

BGO Hits[9]
—

—

BgoE layer 9 Hits 3.98 ~ 6.31 GeV

BGO Hits[9]
—

—




BgoE layer 10 Hits 0.10 ~ 0.16 GeV

BGO Hits[10]
-—

—

BgoE layer 10 Hits 0.40 ~ 0.63 GeV

BGO Hits[10]
—

—

BgoE layer 10 Hits 1.58 ~ 2.51 GeV

BGO Hits[10]
-—

—

BgoE layer 10 Hits 6.31 ~ 10.00 GeV

BGO Hits[10]
-—

2 4 6 8 10 12 14 16 18 20 22

0.7

0.6

05

0.

=

0.

w

0.

N

0.

s

05

0.4

0.3

0.

N

0.

s

0.08
0.06
0.04
0.02

BgoE layer 10 Hits 0.16 ~ 0.25 GeV

BGO Hits[10]
—

—

BgoE layer 10 Hits 0.63 ~ 1.00 GeV

BGO Hits[10]
—

—

BgoE layer 10 Hits 2.51 ~ 3.98 GeV

BGO Hits[10]
—

—

BgoE layer 10 Hits 0.25 ~ 0.40 GeV

BGO Hits[10]
-

—

BgoE layer 10 Hits 1.00 ~ 1.58 GeV

BGO Hits[10]
—

—

BgoE layer 10 Hits 3.98 ~ 6.31 GeV

BGO Hits[10]
—

—




BgoE layer 11 Hits 0.10 ~ 0.16 GeV

BGO Hits[11]
—

—

BgoE layer 11 Hits 0.40 ~ 0.63 GeV

BGO Hits[11]
—

—

BgoE layer 11 Hits 1.58 ~ 2.51 GeV

BGO Hits[11]
-—

—

BgoE layer 11 Hits 6.31 ~ 10.00 GeV

BGO Hits[11]

0.8

0.7

0.6

0.!

o

0.

=

0.

©

0.:

N

o.

[

05

0.4

o
i

BgoE layer 11 Hits 0.16 ~ 0.25 GeV

BGO Hits[11]
—

—

BgoE layer 11 Hits 0.63 ~ 1.00 GeV

BGO Hits[11]
—

—

BgoE layer 11 Hits 2.51 ~ 3.98 GeV

BGO Hits[11]
-
-
L
18 20 22

BgoE layer 11 Hits 0.25 ~ 0.40 GeV

BGO Hits[11]
—

—

BgoE layer 11 Hits 1.00 ~ 1.58 GeV

BGO Hits[11]
—

—

BgoE layer 11 Hits 3.98 ~ 6.31 GeV

0.14
0.12 BGO Hits[11]
—
0.1
—




BgoE layer 12 Hits 0.10 ~ 0.16 GeV

BGO Hits[12]
-—

—

BgoE layer 12 Hits 0.40 ~ 0.63 GeV

0.6
0s BGO Hits[12]
—
0.4 -—
03
0.2
0.1]
0 1 1 L L L L 1 1 1 1
2 4 6 8 10 12 14 16 18 20 22
BgoE layer 12 Hits 1.58 ~ 2.51 GeV
035
0sb- BGO Hits[12]
E —
025~
F —
0.2
015
01
0.05F
0 E 1 1 1 1 L L L | 1
2 4 6 8 10 12 14 16 18 20 22

BgoE layer 12 Hits 6.31 ~ 10.00 GeV

0.14
0.12
BGO Hits[12]
0.1 —
-

WP P N N P P PR P P
2 4 6 8 10 12 4 6

0.6

05

0.4

03

0.

>

0..

i

0.3

BgoE layer 12 Hits 0.16 ~ 0.25 GeV

BGO Hits[12]
—

—

BgoE layer 12 Hits 0.63 ~ 1.00 GeV

BGO Hits[12]
—

—

BgoE layer 12 Hits 2.51 ~ 3.98 GeV

BGO Hits[12]
—

—

BgoE layer 12 Hits 0.25 ~ 0.40 GeV

BGO Hits[12]
-

—

BgoE layer 12 Hits 1.00 ~ 1.58 GeV

BGO Hits[12]
—

—

BgoE layer 12 Hits 3.98 ~ 6.31 GeV

BGO Hits[12]
—

—




BgoE layer 13 Hits 0.10 ~ 0.16 GeV BgoE layer 13 Hits 0.16 ~ 0.25 GeV BgoE layer 13 Hits 0.25 ~ 0.40 GeV

08
07k
BGO Hits[13] 06 :_ BGO Hits[13] BGO Hits[13]
- F — —
- o5 - J—
04
03
02
0.1 E—
L 1 1 1 1 1 0 :| L 1 1 1 1 1 1 1 1 1 1 1 1 1 1
8 10 12 14 16 18 20 22 8 10 12 14 16 18 20 22 10 12 14 16 18 20 22
BgoE layer 13 Hits 0.40 ~ 0.63 GeV BgoE layer 13 Hits 0.63 ~ 1.00 GeV BgoE layer 13 Hits 1.00 ~ 1.58 GeV
0.6 F F
0.6 r F
o 05}
05
0.5 BGO Hits[13] BGO Hits[13] BGO Hits[13]
— F - 0.4 —
T 0af- v 4
04 J— o [— L J—
03f 03
03 E F
F 02f
0.2 0.2 - E
0.1 0.1 :— 01 :_
0 1 1 L L 1 1 1 1 1 1 0 : il L L 1 1 1 0 : L L 1 1 1 1 1
2 4 6 8 10 12 14 16 18 20 22 2 4 6 8 10 12 14 16 18 20 22 2 4 6 8 10 12 14 16 18 20 22
BgoE layer 13 Hits 1.58 ~ 2.51 GeV BgoE layer 13 Hits 2.51 ~ 3.98 GeV BgoE layer 13 Hits 3.98 ~ 6.31 GeV
016
014
BGO Hits[13] BGO Hits[13] o BGO Hits[13]
— — 0.12 :— —
— — 0.1 :— —
008~
0.06 :—
0.0~
0.02
[ T T L o
16 18 20 22 18 20 22 2 4 6 8 10 12 14 16 18 20 22

BgoE layer 13 Hits 6.31 ~ 10.00 GeV

BGO Hits[13]




0.025

BgoE layer 0 Rato 0.10 ~ 0.16 GeV

BGO Rato[0]
—

—

BgoE layer 0 Rato 0.40 ~ 0.63 GeV

BGO Rato[0]
—

—

BgoE layer 0 Rato 1.58 ~ 2.51 GeV

BGO Rato[0]
—

—

BgoE layer 0 Rato 6.31 ~ 10.00 GeV

0.24
0.22

0.2
0.18
0.16
0.14
0.12

0.14
0.08
0.06
0.04

0.02

BGO Rato[0]
—

—

BgoE layer 0 Rato 0.16 ~ 0.25 GeV

BGO Rato[0]
—

—

BgoE layer 0 Rato 0.63 ~ 1.00 GeV

BGO Rato[0]
—

—

BgoE layer 0 Rato 2.51 ~ 3.98 GeV

BGO Rato[0]
—

—

BgoE layer 0 Rato 0.25 ~ 0.40 GeV

0.06

BGO Rato[0]
0.05

-—

-

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 0 Rato 1.00 ~ 1.58 GeV

0.2
018
0.6 BGO Rato[0]
0.14 —
0.12 -

BgoE layer 0 Rato 3.98 ~ 6.31 GeV

o5
041 BGO Rato[0]
-

03 =a
02
0.1]
o A L L L L

01 02 03 04 05 06 07 08 09



BgoE layer 1 Rato 0.10 ~ 0.16 GeV BgoE layer 1 Rato 0.16 ~ 0.25 GeV BgoE layer 1 Rato 0.25 ~ 0.40 GeV

0.05 0.045 007~
0.04 0.06 :_
BGO Rato[1] BGO Rato[1] E BGO Rato[1]
004 0035 F
—T — 0.05 —
[— 003 -— o -_—
0.025 0.04 E
0.02 003
0.015
0.02
0.01
0.01
0.005
0 0 1 ol -
0.1 0.2 0.3 0.4 05 0.6 0.7 0.8 0.9 1 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 1 Rato 0.40 ~ 0.63 GeV BgoE layer 1 Rato 0.63 ~ 1.00 GeV BgoE layer 1 Rato 1.00 ~ 1.58 GeV
0.09 L 0.18
0.05 p—
0.08 o 0.16
0.07 BGO Rato[1] 0.04 '_ BGO Rato[1] 0.14 BGO Rato[1]
0.06 =t N -1 012 —
— o — —
0.05 0.03 0.1
0.04 I 0.08
0.02 g~
0.03 0.06
0.02 001 0.04
0.01 0.02
0 L 1 1 1 Lottt L 0 o L L L L
0.1 0.2 03 04 0.5 0.6 0.7 0.8 0.9 0.1 0.2 03 0.4 05 0.6 0.7 0.8 0.9 1 0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 1 Rato 1.58 ~ 2.51 GeV BgoE layer 1 Rato 2.51 ~ 3.98 GeV BgoE layer 1 Rato 3.98 ~ 6.31 GeV
0.22 03 E
02 035
0.18 BGO Rato[1] 0.25 BGO Rato[1] 03 BGO Rato[1]
0.16 — — —
0.14 — 0.2 — 0254 —
0.12 o2l
0.15
0.1
0.15
0.08
0.1]
0.06 0.1
0.04
0.05 0.05
0.02
0 L L L L L 0 1 L L 1 1 0 1 1 1 L L L
0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 1 Rato 6.31 ~ 10.00 GeV

014 BGO Rato[1]
-—

—




BgoE layer 2 Rato 0.10 ~ 0.16 GeV

BGO Rato[2]
—

—

BgoE layer 2 Rato 0.40 ~ 0.63 GeV

BGO Rato[2]
—

—

BgoE layer 2 Rato 1.58 ~ 2.51 GeV

0.2
0.18
0.16 BGO Rato[2]
0.14 -
—
0.12
0.1
0.08
0.06
0.04
0.02
0 1 L L L L L
0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 2 Rato 6.31 ~ 10.00 GeV
0.14 -
012
BGO Rato[2]
0.1f —T
—
0.08 -

BgoE layer 2 Rato 0.16 ~ 0.25 GeV

0.06
0.05
BGO Rato[2]
—
0.04
—
0.03
0.02
0.01
o I L
0.1 0.2 0.3 0.4 05 0.6 0.7 0.8 0.9
BgoE layer 2 Rato 0.63 ~ 1.00 GeV
0.06
BGO Rato[2]
0.05 —
0.04 =
0.03
0.02
0.01
0 1 1 1 h L L L
0.1 0.2 03 0.4 05 0.6 0.7 0.8 0.9 1
BgoE layer 2 Rato 2.51 ~ 3.98 GeV
0.25
BGO Rato[2]
0.2
—
—
0.15
0.1]
0.05
0 1 1 L | | | |

BgoE layer 2 Rato 0.25 ~ 0.40 GeV

0.1

BGO Rato[2]
-—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 2 Rato 1.00 ~ 1.58 GeV

BGO Rato[2]
—

—

0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 2 Rato 3.98 ~ 6.31 GeV
BGO Rato[2]
—
—
1 L L L | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9




BgoE layer 3 Rato 0.10 ~ 0.16 GeV

012
BGO Rato[3]
01
—
0.08 =

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 3 Rato 0.40 ~ 0.63 GeV

0.12
0.1] BGO Rato[3]
—
0.08 —
0.06
0.04
0.02
0 1 1 L 1 L L 1
01 02 03 04

05 06 07 08 09

BgoE layer 3 Rato 1.58 ~ 2.51 GeV

0.18
016 BGO Rato|3]
0.14 —
0.12 —
0.1]
0.08
0.06
0.04
0.02
° o|1 02 03 y : ; X : X

0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 3 Rato 6.31 ~ 10.00 GeV

012
o1ff
BGO Rato[3]
-—
0.08 -
-

0.04

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 3 Rato 0.16 ~ 0.25 GeV

0.12
0.1
BGO Rato[3]
-—
0.08
-
0.06
0.04
0.02

BgoE layer 3 Rato 0.63 ~ 1.00 GeV

BGO Rato[3]
—

—

BgoE layer 3 Rato 2.51 ~ 3.98 GeV

06 07 08 09 1

0.24

0.22

02
BGO Rato[3]

-

—

0.16
0.14
0.12

0.1]
0.08
0.06
0.04

0.02

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

0.02

BgoE layer 3 Rato 0.25 ~ 0.40 GeV

0.1

BGO Rato[3]
-—

—

BgoE layer 3 Rato 1.00 ~ 1.58 GeV

BGO Rato[3]
—

—

0.1

02 03 04 05 06 07 08 09

BgoE layer 3 Rato 3.98 ~ 6.31 GeV

BGO Rato[3]
-

—




BgoE layer 4 Rato 0.10 ~ 0.16 GeV

0.18
0.16
BGO Rato[4]
0.14 —
0.12 [
0.1]
0.08
0.06
0.04
0.02
0 L de L L 1 L
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 4 Rato 0.40 ~ 0.63 GeV
0.16
0.14
BGO Rato[4]
0.12
—
0.1 —
0.08
0.06
0.04
0.02
0 1 L L 1 1 1
0.1 0.2 03 04 0.5 0.6 0.7 0.8 0.9
BgoE layer 4 Rato 1.58 ~ 2.51 GeV
018~
016
014 ! BGO Rato[4]
H —
0.12H
H —
0.1
008
0.06 -
0.04f~
002~
0 E 1 L L L L | |
0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 4 Rato 6.31 ~ 10.00 GeV
0.1 -
BGO Rato[4]
0.08 —
—

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 4 Rato 0.16 ~ 0.25 GeV

BGO Rato[4]
—

—

0.2 0.3 0.4 05 0.6 0.7 0.8 0.9

BgoE layer 4 Rato 0.63 ~ 1.00 GeV

BGO Rato[4]
—

—

BgoE layer 4 Rato 2.51 ~ 3.98 GeV

05 06 07 08 09 1

BGO Rato[4]
—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

BgoE layer 4 Rato 0.25 ~ 0.40 GeV

0.14
0.12 BGO Rato[4]
—
0.1
—
0.08
0.06
0.04
0.02
0 1 L L 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 4 Rato 1.00 ~ 1.58 GeV
o1~

BGO Rato[4]
—

—

0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 4 Rato 3.98 ~ 6.31 GeV
0.2
0.18
016 BGO Rato[4]
—
0.14
[—
0.12
0.1
0.08
0.06
0.04
0.02
0 1 L L | | | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9




BgoE layer 5 Rato 0.10 ~ 0.16 GeV

0.25
02 BGO Rato[5]
—
015 -
0.1
0.05
0 L - | NP Ty L
0l 02 03 04 05 06 07 08 09
BgoE layer 5 Rato 0.40 ~ 0.63 GeV
02
018~
016 BGO Rato[s]
0.14 -
—

01 02 03 04 05 06 07 08 09

BgoE layer 5 Rato 1.58 ~ 2.51 GeV

02|
o2t BGO Rato[5]
—
01sH =a
o0.1f}
0.05 I—
0 1 L L L L | |

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 5 Rato 6.31 ~ 10.00 GeV

0.1]
BGO Rato[5]
0.08 —T
-

Pl PR
o 0.1 0.2

BgoE layer 5 Rato 0.16 ~ 0.25 GeV

0.2

BGO Rato[5]
—

—

"l ol 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 5 Rato 0.63 ~ 1.00 GeV

0.2

0.1]

0.2

0.1

BGO Rato[5]
—

—

0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9 1
BgoE layer 5 Rato 2.51 ~ 3.98 GeV
BGO Rato[5]
—T
—
1 L L L L | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

BgoE layer 5 Rato 0.25 ~ 0.40 GeV

BGO Rato[5]
-—

012 f—

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 5 Rato 1.00 ~ 1.58 GeV

BGO Rato[5]
0.16 -

—
0.14

—

BgoE layer 5 Rato 3.98 ~ 6.31 GeV

BGO Rato[5]
0.14 —

0.12 —

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9



BgoE layer 6 Rato 0.10 ~ 0.16 GeV

025
02 BGO Rato[6]
—
0.15 bl
0.1]
0.05
0 b L L Freaee | L
0I 02 03 04 05 06 07 08 09
BgoE layer 6 Rato 0.40 ~ 0.63 GeV
02
0.18 -
0.16 BGO Rato[6]
—
0.14
F —

o
°
R
T[T

01 02 03 04 05 06 07 08 09

BgoE layer 6 Rato 1.58 ~ 2.51 GeV

BGO Rato[6]
02 —

—

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 6 Rato 6.31 ~ 10.00 GeV

BGO Rato[6]
—

—

' FEEEE
o 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 6 Rato 0.16 ~ 0.25 GeV

0.3
0.25 BGO Rato[6]
—
0.2 J—
0.15
0.1]
0.05
0 - | I L. 1 L
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 6 Rato 0.63 ~ 1.00 GeV
0.25 -
BGO Rato[6]
0.2 —
—
0.15

IR R =

1
0 0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9 1
BgoE layer 6 Rato 2.51 ~ 3.98 GeV
0.3
0.25
BGO Rato[6]
—T
0.2
—
0.15
0.1]
0.05
0 1 L L L L | |

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

BgoE layer 6 Rato 0.25 ~ 0.40 GeV

0.1

BGO Rato[6]
-—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 6 Rato 1.00 ~ 1.58 GeV

T T TSRS TR

BGO Rato[6]
—

—

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 6 Rato 3.98 ~ 6.31 GeV
BGO Ratol[6]
—
—
1 L L L L | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9




BgoE layer 7 Rato 0.10 ~ 0.16 GeV

0.25
BGO Rato[7]
02 —
—
0.15
0.1
0.05
0 pa—y | D ey | ol L
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 7 Rato 0.40 ~ 0.63 GeV
0.2
0.18
0.16 BGO Rato[7]
014 —
012 =
0.1
0.08
0.06
0.04
0.02
0 L L 1 1 1 1
0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 7 Rato 1.58 ~ 2.51 GeV
0.25 -
BGO Rato[7]
0.2 —
—

BgoE layer 7 Rato 6.31 ~ 10.00 GeV

014
0.12 BGO Rato[7]
-—
0.1]
-

oLty
01

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 7 Rato 0.16 ~ 0.25 GeV

0.35
0.3
BGO Rato[7]
0.25 —
—
0.2
0.15
0.1]
0.05
0 L 1 I il ol 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 7 Rato 0.63 ~ 1.00 GeV
0.25 :—
BGO Rato[7]
—
—

1
0 0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9 1
BgoE layer 7 Rato 2.51 ~ 3.98 GeV
0.3
0.25
BGO Rato[7]
—T
0.2
—
0.15
0.1]
0.05
0 1 L L L L | |

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

BgoE layer 7 Rato 0.25 ~ 0.40 GeV

0.16
0.14

0.1

0.08

0.06

0.04

0.02

BGO Rato[7]
-—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 7 Rato 1.00 ~ 1.58 GeV

BGO Rato[7]
—

—

02 03 04 05 06 07 08 09

BgoE layer 7 Rato 3.98 ~ 6.31 GeV

0.06
0.04
0.02

BGO Rato[7]
-

—




BgoE layer 8 Rato 0.10 ~ 0.16 GeV

0.25
02 BGO Rato[g]
—
—
0.15
0.1f
0.05
0 . L Tl 1 1 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 8 Rato 0.40 ~ 0.63 GeV
0.2
0.18
0.16 BGO Rato[8]
0.14 bl
012 =
0.1
0.08
0.06
0.04
0.02
0 1 A L L L L L
0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 8 Rato 1.58 ~ 2.51 GeV
0.25 -
BGO Rato[8]
o2
—
—

BgoE layer 8 Rato 6.31 ~ 10.00 GeV

BGO Rato[8]
—

—

Laaaal
0.1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

0.2

0.1]

0.2

0.1]

BgoE layer 8 Rato 0.16 ~ 0.25 GeV

BGO Rato[8]
-—

—

BgoE layer 8 Rato 0.63 ~ 1.00 GeV

BGO Rato[8]
—

—

0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9 1
BgoE layer 8 Rato 2.51 ~ 3.98 GeV
BGO Rato[8]
—T
—
1 L L L L | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

BgoE layer 8 Rato 0.25 ~ 0.40 GeV

0.1

BGO Rato[8]
-—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 8 Rato 1.00 ~ 1.58 GeV

BGO Rato[8]

02
0.18
0.16
014 —
0.12 —
0.1]
0.08
0.06
004
0.02
0 0‘I:L o 0| 1 1 1 1 L L

.3 04 05 06 07 08 09

BgoE layer 8 Rato 3.98 ~ 6.31 GeV

BGO Rato[8]

0.22
02
018
0.16 -
014 —
012
0.1]
0.08
0.06
0.04
0.02
R R A y : : 5 : X
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BgoE layer 9 Rato 0.10 ~ 0.16 GeV

025
02 BGO Rato[9]
—
015 =a
01
0.05
o L L -l P L
0I 02 03 04 05 06 07 08 09
BgoE layer 9 Rato 0.40 ~ 0.63 GeV
0.18
0.16
BGO Rato[9]
0.14
—
0.12 J—
0.1]
0.08
0.06
0.04
0.02
0 1 ! L 1 1 1 1
0.1 0.2 03 04 0.5 0.6 0.7 0.8 0.9
BgoE layer 9 Rato 1.58 ~ 2.51 GeV
025
0.2 BGO Rato[9]
—
0.15 ff= =

BgoE layer 9 Rato 6.31 ~ 10.00 GeV

L BGO Rato[9]
—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 9 Rato 0.16 ~ 0.25 GeV

0.35
03
BGO Rato[9]
0.25 -
—
0.2
0.15
0.1
0.05
0 L o1 b L L. L. 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 9 Rato 0.63 ~ 1.00 GeV
0.25
0.2 BGO Rato[9]
—T
015 =
0.1]
0.05
0 1 A 1 1 1 1 1 1
0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9 1
BgoE layer 9 Rato 2.51 ~ 3.98 GeV
0.25
02 BGO Rato[9]
—T
0.15 —
0.1]
0.05
0 1 1 L | | | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

BgoE layer 9 Rato 0.25 ~ 0.40 GeV

BGO Rato[9]
-—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 9 Rato 1.00 ~ 1.58 GeV

BGO Rato[9]
—

—

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 9 Rato 3.98 ~ 6.31 GeV
BGO Rato[9]
—
—
1 L L L L | |
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9




BgoE layer 10 Rato 0.10 ~ 0.16 GeV

BGO Rato[10]
-
—

—

ST Y . 1 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 10 Rato 0.40 ~ 0.63 GeV

BGO Rato[10]
—

—

0.2

0.1]

0.24
0.22

02
0.18
0.16
0.14

0.12

0.1

0.08
0.06
0.04

0.02

BgoE layer 10 Rato 1.58 ~ 2.51 GeV

BGO Rato[10]
-
—

—

0.14

BgoE layer 10 Rato 6.31 ~ 10.00 GeV

BGO Rato[10]
-
—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 10 Rato 0.16 ~ 0.25 GeV

BGO Rato[10]
03 —
0 J—) 1 Lo Il 1 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 10 Rato 0.63 ~ 1.00 GeV

BGO Rato[10]
—

—

0.1 0.2 03 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 10 Rato 2.51 ~ 3.98 GeV
BGO Rato[10]

0.1

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 10 Rato 0.25 ~ 0.40 GeV
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BGO Rato[10]
0.2 -
—
[—
0.15
0.1
0.05
0 ' Il 1 1 L 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 10 Rato 1.00 ~ 1.58 GeV
0.2
0.18
0.16 BGO Rato[10]
0.14 =
[—
0.12
0.1
0.08
0.06
0.04

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 10 Rato 3.98 ~ 6.31 GeV
02
0.18
BGO Rato[10]
0.16
—
0.14
—

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9




BgoE layer 11 Rato 0.10 ~ 0.16 GeV

BGO Rato[11]

-
—

—

BgoE layer 11 Rato 0.40 ~ 0.63 GeV

BGO Rato[11]
—

0.12 —

01 02 03 04 05 06 07 08 09

BgoE layer 11 Rato 1.58 ~ 2.51 GeV

BGO Rato[11]
-
—

—

BgoE layer 11 Rato 6.31 ~ 10.00 GeV

o
o
T

BGO Rato[11]
-
—

—
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obiialisiy L L L L L L
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BgoE layer 11 Rato 0.16 ~ 0.25 GeV

BGO Rato[11]
—
—
—— - 1 L 1 L
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 11 Rato 0.63 ~ 1.00 GeV
BGO Rato[11]
—
-
1 L L 1 1 1 1
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BgoE layer 11 Rato 2.51 ~ 3.98 GeV

BGO Rato[11]
-
—

—
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BgoE layer 11 Rato 0.25 ~ 0.40 GeV

0.25 -
BGO Rato[11]
02 —
—
0.15 =
0.1 i
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0 [, L Lo L 1 1 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 11 Rato 1.00 ~ 1.58 GeV
0.2
0.18
BGO Rato[11]
0.16
—1
0.14
—
0.12
0.1
0.08
0.06
0.04
0.02
0 1 L 1 ) ) ) 1 1
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
BgoE layer 11 Rato 3.98 ~ 6.31 GeV
02
0.18
BGO Rato[11]
0.16 =
—1
0.14 -
—
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BgoE layer 12 Rato 0.10 ~ 0.16 GeV

BGO Rato[12]

—

—

BgoE layer 12 Rato 0.40 ~ 0.63 GeV

- BGO Rato[12]
—

—

01 02 03 04 05 06 07 08 09

BgoE layer 12 Rato 1.58 ~ 2.51 GeV

BGO Rato[12]
—

—

BgoE layer 12 Rato 6.31 ~ 10.00 GeV

- BGO Rato[12]
—

—

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

BgoE layer 12 Rato 0.16 ~ 0.25 GeV

0.1

0.1

BGO Rato[12]
—

—
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BgoE layer 12 Rato 0.63 ~ 1.00 GeV

0.2
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BGO Rato[12]
—

—

BgoE layer 12 Rato 2.51 ~ 3.98 GeV

BGO Rato[12]
—

—
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BgoE layer 12 Rato 0.25 ~ 0.40 GeV

0.24
0.22

02
018 BGO Rato[12]
016 -
014 =
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01
0.08
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0 L L 1 Ll 1 L
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BgoE layer 12 Rato 1.00 ~ 1.58 GeV
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02
0.18 BGO Rato[12]
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014 —
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0 1 L L 1 1 1 1 1

BgoE layer 12 Rato 3.98 ~ 6.31 GeV
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—
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BgoE layer 13 Rato 0.10 ~ 0.16 GeV

BGO Rato[13]

—

—

BgoE layer 13 Rato 0.40 ~ 0.63 GeV

BgoE layer 13 Rato 0.16 ~ 0.25 GeV

BGO Rato[13]
—

—

BGO Rato[13]
—

—

BgoE layer 13 Rato 0.63 ~ 1.00 GeV

BgoE layer 13 Rato 1.58 ~ 2.51 GeV

BGO Rato[13]
—

—

BGO Rato[13]
—

—

BgoE layer 13 Rato 2.51 ~ 3.98 GeV

BgoE layer 13 Rato 6.31 ~ 10.00 GeV

BGO Rato[13]
—

—

BGO Rato[13]
—

—

4 L 1 ol 1 1 1
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BgoE layer 13 Rato 0.25 ~ 0.40 GeV
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BgoE layer 13 Rato 1.00 ~ 1.58 GeV
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02
0.18 BGO Rato[13]
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BgoE layer 13 Rato 3.98 ~ 6.31 GeV
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107

BgoE layer 0 RMS2 0.10 ~ 0.16 GeV

BGO RMS2[0]

BgoE layer 0 RMS2 0.40 ~ 0.63 GeV

107

107

10*

10*

BGO RMS2[0]

—

—

10

BgoE layer 0 RMS2 1.58 ~ 2.51 GeV

BGO RMS2[0]

BgoE layer 0 RMS2 6.31 ~ 10.00 GeV

BGO RMS2[0]

10

BgoE layer 0 RMS2 0.16 ~ 0.25 GeV

10t

BGO RMS2[0]

BgoE layer 0 RMS2 0.63 ~ 1.00 GeV

BGO RMS2[0]

BgoE layer 0 RMS2 2.51 ~ 3.98 GeV

BGO RMS2[0]

BgoE layer 0 RMS2 0.25 ~ 0.40 GeV

BGO RMS2[0]

BgoE layer 0 RMS2 1.00 ~ 1.58 GeV

BGO RMS2(0]
—

—

BgoE layer 0 RMS2 3.98 ~ 6.31 GeV

BGO RMS2[0]




107

10*

10

102

BgoE layer 1 RMS2 0.10 ~ 0.16 GeV

BGO RMS2[1]

BgoE layer 1 RMS2 0.40 ~ 0.63 GeV

BGO RMS2[1]

10

BgoE layer 1 RMS2 1.58 ~ 2.51 GeV

BGO RMS2[1]

BgoE layer 1 RMS2 6.31 ~ 10.00 GeV

BGO RMS2[1]

BgoE layer 1 RMS2 0.16 ~ 0.25 GeV

BGO RMS2[1]

BgoE layer 1 RMS2 0.63 ~ 1.00 GeV

BGO RMS2[1]

BgoE layer 1 RMS2 2.51 ~ 3.98 GeV

BGO RMS2[1]

10?

BgoE layer 1 RMS2 0.25 ~ 0.40 GeV

BGO RMS2[1]

BgoE layer 1 RMS2 1.00 ~ 1.58 GeV

10

BGO RMS2[1]
—

—

BgoE layer 1 RMS2 3.98 ~ 6.31 GeV

BGO RMS2[1]




10"

10*

BgoE layer 2 RMS2 0.10 ~ 0.16 GeV

BGO RMS2[2]

BgoE layer 2 RMS2 0.40 ~ 0.63 GeV

BGO RMS2[2]

10

BgoE layer 2 RMS2 1.58 ~ 2.51 GeV

BGO RMS2[2]

BgoE layer 2 RMS2 6.31 ~ 10.00 GeV

BGO RMS2[2]

10

BgoE layer 2 RMS2 0.16 ~ 0.25 GeV

BGO RMS2[2]
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